BP3 The impact of government policy on businesses manufacturing in the UK 


To what extent is government investment in businesses manufacturing in the UK the most significant factor in the revival of British industry? Justify your answer with reference to your own research and the item above. 									 (40 marks)

[bookmark: _GoBack]Manufacturing businesses in the UK have seen a decline in the past decade with the share of GDP decreasing from 22% to 11% as manufacturing has been moved to cheaper centres such as China and Eastern Europe. The popularity of the sector has also declined with more skilled graduates preferring to go into the financial sector because of the increased income and more attractive position it offers. The government however has provided many significant opportunities for UK Manufacturing, particularly for the car industry, with Nissan securing a £9.3 million investment from the Government's Regional Growth Fund, part of the expansionary fiscal policy where Government is investing more in businesses to boost the economy and revive the manufacturing sector. Schemes such as the Regional Growth Fund encourage growth, safeguard jobs and encourage private investment. It has helped Nissan to carry out new product development of their electric car, the Note. Therefore for them, government investment has proved the most significant factor. Furthermore, for the food and drinks industry support from the government by cutting tax for small breweries has allowed the development of highly differentiated products with greater scope for growth in global markets, particularly exports to the U.S. However, ensuring that the latest technology is used in manufacturing in the UK is also a major factor that has contributed to the revival of British industry with additive manufacturing technology allowing for huge cost cuts and a greater scope for growth in both niche and mass market, especially for car manufacturer BMW.
Excellent introduction to the essay.  The candidate sets the scene with a brief introduction to what has happening to manufacturing in the UK. They then tell the examiner what businesses or industries they will be looking at in their essay. Here, it is clear that they will discuss the car industry and compare it to the food and drinks industry. This will be contrasted with the latest technology used in manufacturing which might be seen as the most significant factor in the revival of UK manufacturing. It is apparent that the introduction is focused on answering the question. There are several clues to this, for example, their reference to the terms significant and revival.
Government investment in UK manufacturing businesses appears to be the most significant factor in the revival of British industry for the food and drinks sector, one that contributed £97 billion to the economy in 2012. Over half of the food consumed in the UK is produced here although 15% of this is wasted each year. This has led to a Government focus on reducing waste and towards a zero waste economy. The government has provided support for smaller breweries manufacturing in the UK by cutting tax. This allows more money to be invested in the development of high quality, highly differentiated products that appeal to a wider market. This is shown by Ilkley Brewery exporting their high quality products to the US. With increased global sales and greater demand for the quality products in global markets manufacturing businesses in the UK have greater income to perform new product development which can be seen by Ilkley Brewery developing a range of premium beers. This means that consumers are much more likely to buy the products because they are made to suit differing personal tastes.  Not only does this increase sales but it also increases the reputation of British manufacturing firms in the drinks industry meaning more consumers will choose to buy beer from the UK because of the high quality and unique selling point of these tailored products. In turn, this contributes to the British economy and therefore shows how government policy, particularly support for small manufacturing businesses, has proved to be a significant factor in the revival of British industry.
RAN RAP. This is a strong analytical paragraph that has used the item to help develop contextualised analysis. The paragraph focuses on a quality approach to manufacturing by small businesses.  The candidate has deliberately looked at the scale of the business as it will allow them to contrast with government support for larger manufacturing businesses in the car industry.  This is a subtle approach to the answer as the first two analytical paragraphs will be comparative.  However, the industries looked at are of contrasting size.
The Government investment has also proved to be the most important factor in the revival of manufacturing in the car industry in the UK, the fourth largest producer of cars in Europe and a major international producer of engines and components.  For multinational company Nissan, securing £9.3 million finance from the Regional Growth Fund encouraged it to invest £125 million into its Sunderland plant in the UK, expanding here rather than investing overseas in its Indian plant.  As a result, skilled core workers in the UK were able to develop the new highly differentiated electric car, the Nissan Note.  This has proved significant for the future success of motoring with the impact of global warming and depletion of fossil fuels a very important issue that the UK Government is keen to support.  Developing these products in the UK has allowed for the opportunity to sell worldwide in emerging markets such as the BRICS and MINT countries.  By targeting the emerging markets increasing wealth, particularly newly rich premium consumers, Nissan can undertake new market development supported by the British reputation for quality and reliability. Consequently, Government investment in UK manufacturing businesses can act as an incentive for firms like Nissan. This makes a significant contribution to the revival of British industry by it also providing huge benefits to the macro economy of the country, improving unemployment in deprived areas such as the North East. This will help to create nearly 600,000 jobs in the UK by 2020. This leads to a multiplier effect that will benefit British industry as increased disposable income will lead to higher sales of durable goods such as houses, cars and electrical appliances, many of which will be manufactured in the UK. The comparison of Ilkley Brewery and Nissan suggests that government investment can be beneficial for all sizes of business, both micro and macro. Government can help revive British industry in completely differing industrial sectors.
RAN+ RAP+.  The candidate has compared Nissan with Ilkley Brewery. They suggest that there is not a one size fits all policy and that government support can benefit all types of British industry. The candidate provides a nuance that will help them stand out from similar answers that do not use the context as appropriately.  This should reflect in the overall evaluation mark achieved and enhances the level of sophistication of the answer.
Using the latest technology might also be seen to be a significant factor in the revival of British industry.  Car manufacturer BMW has an established use of additive manufacturing technology in its research and development and product and process innovation. Its links with Sheffield University has allowed for increased knowledge regarding advancements in technology and the direction the business needs to take in order to benefit from increased scientific research and technical development. This means that BMW can maintain competitiveness in an industry with intense rivalry. With the nature of this oligopolistic market leading to continuous new product development it is important that BMW remain ahead of the game.  The link with academia means that BMW can access skilled core workers at the cutting edge of technological progress.  This enables product improvements through increased precision and accuracy when making vehicles from high tech additive manufacturing in the form of 3D printing machinery, which would have had to be handmade in a labour intensive environment instead of by niche manufacturing equipment.  As a result fewer mistakes are made involving less waste and reducing costs after the initial capital expenditure.  Additive manufacturing technology is used in the design process before any physical production.  The quality of the new product development is leading to increased customer loyalty with market penetration as more cars are sold in established markets, such as the UK and Europe and market development in emergent markets such as Russia and China. Foreign ownership has exposed the industry to increased international competition and global economies of scale. The highly differentiated nature of the car industry is further reflected with Ford’s development of low carbon engines due to the technological expertise of the UK workforce.  Therefore, technology will hopefully provide businesses such as BMW and Ford with future success and is a significant factor in the revival of British industry. 
GAN GAP.  A strong contrasting paragraph looking at the significance of technology in the revival of British industry.  The analysis is underpinned with business theory throughout and reflects how technology can be used by BMW and Ford to enable success in the highly competitive car industry.
In conclusion, I think the government investment is the most significant factor in the revival of British industry as it has provided the UK with improved growth, increased employment with the creation of jobs in both the car and food and drinks industries and enhance the opportunities to sell to global markets.  Government support for smaller businesses, for example in brewing, has been essential in providing the impetus required to finance expansion, in Ilkley’s case through increased retained profits due to cutting beer tax. Without government investment Nissan would have outsourced production to India where skills are limited but labour and land costs are cheaper. By nudging Nissan with the carrot of help with start-up costs the Government has helped to ensure that the Japanese giant has remained in the UK over the long-term.  This is mutually beneficial as jobs are created in the UK economy whilst Nissan have realised the potential of our experienced and skilled core workers in the car industry. This has allowed Nissan to maintain quality and ensure the development of its new products.  As the car industry thrives there is a greater likelihood that more skilled graduates will move into engineering rather than finance, particularly as more money is invested into training budgets and sponsored degree programmes for manufacturing businesses.  Therefore, in the long-term, government investment is essential for the revival of British industry.  However, in the short-term, it may be that technology is more important for the success and revival of British industry as without it, and the required skills in research and development, the products that the likes of Nissan, BMW and Ford produce would not have been developed.  Despite this, without government investment, the foreign owned UK manufacturers will have been less likely to set up operations in the UK. Therefore, I conclude that government investment is the most significant factor in the future success of UK industry. 
GAN GAP L5 E3. Well-developed concluding evaluative paragraph that uses prior analysis and application to support the overall argument. The concluding evaluation has been fully supported by the commentary and judgement has been made as to why government investment is likely to lead to success for British industry, particularly in the long-term. This judgement has been made with the caveat that embracing the latest technology is an essential requirement if British industry is to be successful, particularly in the short-term. The candidate has fully based their evaluative conclusion on the body of their argument.
Excellent essay, well-structured with full use of contextualised analysis throughout and fully focused on answering the question.
